
10 JUNE HAS THIRTY DAYS. [1850.
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Ucinni-fcnblv E^vcuts, Astronomical Notes.

6UND. •-'"' Snnthi!/ aflvr Trinihj. Monn llOfir Vonus.

Moiid. '•'>i»^' Ci<ini"ii liiots ('(1111. ITSO.
I Venus iii Ariosi.

'l'jie><(.l. \\ iiliaiu Iliirvuy diiil, IC.'T,
j

Wed. |Kiii','(loinofXt'th(.'rhin(lsdh-.18.'ll >I()ou i'avtlicst North.

Tliur. 'i<V-\lL'X!uidortlio(;Mitb.]!.C.;;r,ti ;\lercuvy in Dcsc. node.

Friiliiy J-i'uuiy I't-'iithiim died, 1S02. I

Sntur. jWohirdiod, ls-.i(i. IMars in Vivpo.

SUND. '^'''^ Sunday after Trinil;/. 'Mcrcurj' Htatioiifivy.

Mond. [{'"•) >i'-s. Siddous died. in;;1. 'Ssiturn i'avtlie^t Nortli.

Tiie^d. <J:iv;r/.zi Itiuts in Montroiil, 185,3. jMuou in .ipop;cc«

Wed. I'*-"'! •'oiisou boni, l;i75.

Tiiur. 'Ma.s'iia Charta Hij;iK>d, ]v!15.

Friilny !!!vttluof .Marongo, Isin).

Neptune 'JU° \V. Sun.

Jupiter in Pisces.

Mnrs. in Dose. node.

Saturn near Mercury.

Moon lowest.

Siitur. I'iittlt-' of Xiisoby, 1C4.J.

SUND. •^'''' SiiiKhiy after Trinil;/.

Mond. lO'') I'Uther excnm. l.'i-iO.

Tuesd. •fiilin Wwluy boni, ITu.'i.

Wed. ;l!aUlo of Watoi-loo, ISIO.

TiuU". Ibir Joseph liaiiks died, 1S20.

Friday Qupon Vietoria's Accession, 1837. 21st J^ Inf. (^ Sun.

Satur. dVoclaniatioii of Q.Victona,lS37. Sun enters Gemini.

SUM). r):'/t Sinuhnj aftn- Trinilij. Saturn in Gemini.

Mond. jA'ibnitz born, low. Ncptunc stationary.

Tuesd. .luhn llanipdun died, 1G«. Saturn
c$

Sun.

Wed. ilialtlo of liannockburn, im-t. |Moon in Pericoe.

Tliur. iticnrso IV. died, IS^oO.

Friday AUau Cunningham died, lS4i).

Salur. Coronation of the Qnoen, 18o8.

SUND. .;//( Sim'hojafl.r Triiuh/.

J50 Mond. Karl of Ar-ylo beheaded, V)^r,.

25th. 9 "^''11" Mercury.

Uranus in Tain-us.

.Jupiter 00° W. Sun.

Moon highest.
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M.VTUI.MA'i.i'.M. I'lli|:l.i;3'S.

Trob. 30.—Given to

find X and//; x-[-y=-5,

and .-c<-|-.v* =1241.'

I'uon. 40,—How many
balls in a reetanp;ular

pile of 50 coinses, Uiere

being 20 balls in the top

row '{

Pnoii. 41.—If a .seg-

ment of a circle, wlic-^c

base is 4, and height 1,

revolve about a perpen-
dicular bisecting the base
what will be the surface

and solidity of the body
produced V

Piion. 42.—If the seg-

ment in Problem 41, rc-

V(dvc around a line per-

pendicular to the end of

the base, what will be the

surface and solidity of

the body generated '/

Piiou. 43.—If a figure

of equal sides, each of

which is 2 feet, revolve
about one of its sides,

what Avill be the surface
and solidity of the body
generated ?
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Prob. 32.

ANSWERS TO THE PROBLEMS FOR 1855.

-Let 15=^2rt, and 00825=6, then the numbers Avil! bo

Proh. 33.-

Prob. 34.

--= « ±V { \/{l^ + -^) - a"-
} :=^(15)±^(3)=9 or G Ans.

T,et 2 —the required velocity. Then (2)'(10 l-12)-f-2x=400. Hence 2;=1G7 5-Gths, Ans.

5 weights, if used on both scales, viz. 1, 3, 0, 27, 81 lbs. But if used in one only
7 weights, viz. 1, 2, 4, 8, 10, 32, 37 lbs. Ans.

Note.—The most general mode of solving questions of this nature, is by the
teruiiry scale of notation.—Sec "Barlow's Theory of Numbers,'' Chap. 10.

Prob. 35.—Let x^-\-y'^ be the numbcrs=a cube. Now let x=rz, and y=sz, then r'^z'^-]-s-z'^=x'^-\-

,/i=a cube. Put {^-i~v^)=r'-z^Ars''-z\ then z=v^{r'^-\-s^), x=^rv^ (i-4-s-), and y=
.sc^ (r2-\-s-), in wdiich r, s, and v, arc any numbers we choose to make them. If
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r=2, 5=1, and v=l, then a;=10, 2/=5, and hence x-=100, 7/''^^=25, Ans.

Prob. 10, of 18.54. By Dennis Smith, Quebec. Given x^i/^—x^'^—^)728 and .T2;y5-f3.V-"=40320
to iind x and y. Put y=xV. Then x^'^r^—x^'^—'d72S, and a;i-V'»+2;i-'/"-=40320.

Hence a;^-=9728-^(7»—l)=10320---(?'5-f-r-). Therefore 0728;-^(;'3+l)_40320
4-(;»—1)=.0. llenccr=1.5.

Then a;'-=9728-^(2.375)=409G. Hence a:=2, and x'^y=i/=^G. Ans.

Xote.—This solution is the only one received, yet it is not complete, for the

determination of r is not plain. AVill others furnish .'•hort solutious ?

Geom. Prob. 1.—Let S=a, 2=h, and 8.141G=p. Then the 6urface=6/^(a+i)=197.392
inches Ans.

Solidity=}iy(a-f6)=98-G9G cubic inches, Ans.
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